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Problem quickname: 1213

b

Write as a fraction with a fraction bar.

a) 0.249 = 249 b) 0.608 = i ¢) 0.498 = 7
_ 375 _ 369 — 763
d) 0.375 = 3. e) 0.369 = 1550 £) 0.763 = 1560
456 493 : 278
g) 0.456 = 56 h) 0.493 = {53 i) 0.278 = {509
i) 0.654 = B4
2)
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Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 0.7548 = =88 = 88T b) 0.4369 = {5550 = 16000
¢) 0.1245 = {215, — 219 d) 0.7865 = 15500 = 3000
¢) 0.7436 = (136 _ 1859 ) 0.2108 = fhj = 900
g) 0.0972 = 92 — 2193 h) 0.2642 = 5 = 503
i) 0.4396 = 1396 _ 1009 j) 0.2727 = {85 = {55
3)
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Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 0.5 =3 =3 b) 0.8 =& =4 ) 0.6=5 =3
4)
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Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a)0.51:15—010:% )048:ﬁ:% )031_%:

d) 0.76 = {& =3 )072—72—% )038——8—5
_ 49 _ 49 _ 59

g) 0.49 = 100 — 100 ) 0.59 = 100 100 ) 0.75 = 100 =

j)0.63 =33 = 5%
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Good Luck!
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